

FIBONACCI NUMBERS AND HÖLDER INEQUALITY

ANDREJ DUJELLA¹, JULIJE JAKŠETIĆ², AND JOSIP PEČARIĆ³

ABSTRACT. The article establishes a chain of inequalities with power sums using Hölder's and Cauchy's inequalities and their conversions. Subsequently, applications are made to power sums whose terms are composed of Fibonacci numbers, for which the sum can be calculated with an appropriate choice of exponents.

1. INTRODUCTION

Fibonacci sequence. The Fibonacci sequence is defined recursively with

$$F_0 = 0, \quad F_1 = 1, \quad F_n = F_{n-2} + F_{n-1}, \quad n = 2, 3, \dots$$

Fibonacci numbers can be calculated using the formula

$$F_n = \frac{1}{\sqrt{5}}(\phi^n - (\phi - \sqrt{5})^n), \tag{1.1}$$

where $\phi = \frac{1+\sqrt{5}}{2}$, $n \in \mathbb{N}$.

In [14], the following inequality with Fibonacci numbers can be found.

Theorem 1. *Let n be a positive integer and ℓ an integer. Then,*

$$(F_1^\ell + F_2^\ell + \dots + F_n^\ell) \left(\frac{1}{F_1^{\ell-4}} + \frac{1}{F_2^{\ell-4}} + \dots + \frac{1}{F_n^{\ell-4}} \right) \geq F_n^2 F_{n+1}^2 \tag{1.2}$$

holds, where F_n is the n^{th} Fibonacci number.

The previous theorem is generalized in the paper [1].

Theorem 2. *Let $r, s \in \mathbb{R}$ with $r + s \geq 4$. Then, for $n \geq 1$,*

$$\sum_{k=1}^n F_k^r \sum_{k=1}^n F_k^s \geq (F_n F_{n+1})^2. \tag{1.3}$$

The sign of equality is valid in (1.3) if and only if $n = 1, 2$ or $n \geq 3, r = s = 2$.

Power sums, Hölder and Cauchy inequality. We present some results that will be needed in the exposition.

Let us denote, for $\alpha \in \mathbb{R}$ and $\mathbf{x} = (x_1, \dots, x_n) \in \mathbb{R}_+^n$

$$S_n^{[\alpha]}(\mathbf{x}) = \sum_{i=1}^n x_i^\alpha. \tag{1.4}$$

Key words and phrases. Fibonacci sequence, power means.

Proposition 1. *If $\alpha > \beta > 0$ then*

$$\left(S_n^{[\alpha]}(\mathbf{x})\right)^{1/\alpha} \leq \left(S_n^{[\beta]}(\mathbf{x})\right)^{1/\beta}. \quad (1.5)$$

(See [9, p. 4].)

Theorem 3 (Hölder). *Let $\mathbf{x}, \mathbf{y} \in \mathbb{R}_+^n$.*

(i) *If $p > 1$ and $q = \frac{p}{p-1}$, then*

$$\sum_{i=1}^n x_i y_i \leq \left(S_n^{[p]}(\mathbf{x})\right)^{1/p} \left(S_n^{[q]}(\mathbf{y})\right)^{1/q}. \quad (1.6)$$

(ii) *If $0 < p < 1$ and $q = \frac{p}{p-1}$, then the reverse inequality holds in (1.6).*

(See [9, p.26] and [15, p.113].)

Corollary 1 (Cauchy). *Let $\mathbf{x}, \mathbf{y} \in \mathbb{R}_+^n$.*

$$\sum_{i=1}^n x_i y_i \leq \left(S_n^{[2]}(\mathbf{x})\right)^{1/2} \left(S_n^{[2]}(\mathbf{y})\right)^{1/2}. \quad (1.7)$$

([9, p.16] and [15, p.131].)

Theorem 4 (Hölder's conversions). *Let $\mathbf{x}, \mathbf{y} \in \mathbb{R}_+^n$, $\frac{1}{p} + \frac{1}{q} = 1$, $0 < m < M$, $m \leq x_i/y_i^{q/p} \leq M$, $i = 1, \dots, n$.*

(i) *If $p > 1$, then*

$$(M - m) \sum_{k=1}^n x_k^p + (mM^p - Mm^p) \sum_{k=1}^n y_k^q \leq (M^p - m^p) \sum_{k=1}^n x_k y_k \quad (1.8)$$

and if $0 < p < 1$, then reversed inequality in (1.8) is valid.

(ii) *If $p > 1$, then*

$$\left(\sum_{k=1}^n x_k^p\right)^{1/p} \left(\sum_{k=1}^n y_k^q\right)^{1/q} \leq \lambda \sum_{k=1}^n x_k y_k \quad (1.9)$$

where

$$\lambda = |M^p - m^p| |p(M - m)|^{-1/p} |q(M^p - mM^p)|^{-1/q}.$$

If $0 < p < 1$, then reversed inequality in (1.9) is valid.

(See [11, p.64] and [15, p.114].)

Theorem 5 (Cauchy's conversions). *Let $\mathbf{x}, \mathbf{y} \in \mathbb{R}_+^n$ and*

$$0 < m_1 \leq x_i \leq M_1, \quad 0 < m_2 \leq y_i < M_2, \quad i = 1, \dots, n.$$

Then, the following transformations of Cauchy's inequality hold:

$$1 \leq \frac{(\sum_{k=1}^n x_k^2)(\sum_{k=1}^n y_k^2)}{(\sum_{k=1}^n x_k y_k)^2} \leq \frac{1}{4} \left(\sqrt{\frac{M_1 M_2}{m_1 m_2}} + \sqrt{\frac{m_1 m_2}{M_1 M_2}} \right)^2, \quad (1.10)$$

$$\frac{\sum_{k=1}^n x_k^2}{\sum_{k=1}^n x_k y_k} - \frac{\sum_{k=1}^n x_k y_k}{\sum_{k=1}^n y_k^2} \leq \left(\left(\frac{M_1}{m_2} \right)^{\frac{1}{2}} - \left(\frac{m_1}{M_2} \right)^{\frac{1}{2}} \right)^2, \quad (1.11)$$

$$\left(\sum_{k=1}^n x_k^2 \right) \left(\sum_{k=1}^n y_k^2 \right) - \left(\sum_{k=1}^n x_k y_k \right)^2 \leq \frac{n^2}{4} (M_1 M_2 - m_1 m_2)^2, \quad (1.12)$$

$$\sum_{k=1}^n y_k^2 + \frac{m_2}{M_1} \frac{M_2}{m_1} \sum_{k=1}^n x_k^2 \leq \left(\frac{M_2}{m_1} + \frac{m_2}{M_1} \right) \sum_{k=1}^n x_k y_k. \quad (1.13)$$

The above theorem can be found in [11, p. 61]. The inequality (1.10) was proven in [13], (1.11) in [17], (1.12) in [12], and (1.13) in [6].

2. PRELIMINARY RESULTS

Theorem 6. *Let $p > 1, q = \frac{p}{p-1}, \mathbf{x} = (x_1, \dots, x_n) \in \mathbb{R}_+^n$.*

(i) *If $x_i \geq 1, i = 1, \dots, n$, and if $u, v \in \mathbb{R}, \alpha = \frac{u}{p} + \frac{v}{q}$ and $\alpha \geq \beta > 0$, then*

$$\begin{aligned} & \left(S_n^{[u]}(x) \right)^{1/p} \left(S_n^{[v]}(x) \right)^{1/q} \geq S_n^{[\alpha]}(x) \geq \\ & \geq \frac{1}{n^{\frac{\alpha}{\beta}-1}} \left(S_n^{[\beta]}(x) \right)^{\alpha/\beta} \geq S_n^{[\beta]}(x) \geq \left(S_n^{[\alpha]}(x) \right)^{\beta/\alpha}. \end{aligned} \quad (2.1)$$

(ii) *If $u, v \in \mathbb{R}$, such that $\alpha = \frac{u}{p} + \frac{v}{q}$ and $0 \leq \alpha < \beta$, then*

$$\left(S_n^{[u]}(x) \right)^{1/p} \left(S_n^{[v]}(x) \right)^{1/q} \geq S_n^{[\alpha]}(x) \geq \left(S_n^{[\beta]}(x) \right)^{\alpha/\beta}. \quad (2.2)$$

Proof. (i)

$$\left(\sum_{k=1}^n x_k^u \right)^{1/p} \left(\sum_{k=1}^n x_k^v \right)^{1/q} = \left(\sum_{k=1}^n \left((x_k^{u/p})^p \right) \right)^{1/p} \left(\sum_{k=1}^n \left((x_k^{v/q})^q \right) \right)^{1/q} \quad (2.3)$$

$$\geq \sum_{k=1}^n x_k^{u/p} x_k^{v/q} = \sum_{k=1}^n x_k^\alpha = \sum_{k=1}^n (x_k^\beta)^{\alpha/\beta} \quad (2.4)$$

$$\geq n \left(\frac{1}{n} \sum_{k=1}^n x_k^\beta \right)^{\alpha/\beta} \quad (2.5)$$

$$\geq \sum_{k=1}^n x_k^\beta \quad (2.6)$$

$$\geq \left(\sum_{k=1}^n x_k^\alpha \right)^{\beta/\alpha}, \quad (2.7)$$

where in (2.4) we used Hölder's inequality with substitutions $x_i \rightarrow x_i^{u/p}, y_i \rightarrow x_i^{v/q}$. Then, in (2.5), we used Jensen's inequality for the function $x \mapsto x^{\alpha/\beta}, \alpha \geq \beta$, and in (2.6), we used the monotonicity of the exponential function $x \mapsto b^x, b =$

$$\frac{1}{n} \sum_{k=1}^n x_k^\beta \geq 1.$$

(ii) Similar as in (i)-part, we apply Hölder's inequality and then the moment inequality (1.5). \square

Remark 1. Observe that the condition $x_i \geq 1$, $i = 1, \dots, n$ in the (i)-part of the Theorem can be weakened to the condition $\frac{1}{n} \sum_{k=1}^n x_k^\beta \geq 1$, as used in (2.5).

The above proof can also be adapted for the following theorem, which uses the reverse Hölder inequality.

Theorem 7. Let $0 < p < 1$, $q = \frac{p}{p-1}$, $\mathbf{x} = (x_1, \dots, x_n) \in \mathbb{R}_+^n$.

(i) If $u, v \in \mathbb{R}$, $\alpha = \frac{u}{p} + \frac{v}{q}$ and $\alpha \geq \beta > 0$, then

$$\left(S_n^{[u]}(x)\right)^{1/p} \left(S_n^{[v]}(x)\right)^{1/q} \leq S_n^{[\alpha]}(x) \leq \left(S_n^{[\beta]}(x)\right)^{\alpha/\beta}. \quad (2.8)$$

(ii) Let $x_i \geq 1$, $i = 1, \dots, n$. If $u, v \in \mathbb{R}$, such $\alpha = \frac{u}{p} + \frac{v}{q}$ and $0 \leq \alpha < \beta$, then

$$\left(S_n^{[u]}(x)\right)^{1/p} \left(S_n^{[v]}(x)\right)^{1/q} \leq S_n^{[\alpha]}(x) \leq \frac{1}{n^{\frac{\alpha}{\beta}-1}} \left(S_n^{[\beta]}(x)\right)^{\alpha/\beta} \leq S_n^{[\beta]}(x) \leq \left(S_n^{[\alpha]}(x)\right)^{\beta/\alpha}. \quad (2.9)$$

The results from Theorems 6 and 7 can be further extended using the conversions from Theorem 4.

Theorem 8. Let $u, v \in \mathbb{R}$, such that $\alpha = \frac{u}{p} + \frac{v}{q}$. If $\mathbf{x} = (x_1, \dots, x_n) \in \mathbb{R}_+^n$, $m = \min_i \{x_i^{\frac{u-v}{p}}\}$ and $M = \max_i \{x_i^{\frac{u-v}{p}}\}$.

(i) If $p > 1$ then

$$(M - m)S_n^{[u]}(x) + (mM^p - Mm^p)S_n^{[v]}(x) \leq (M^p - m^p) \sum_{k=1}^n S_n^{[\alpha]}(x) \quad (2.10)$$

and if $0 < p < 1$ then reversed inequality in (2.10) is valid.

(ii) If $p > 1$, then

$$\left(S_n^{[u]}(x)\right)^{1/p} \left(S_n^{[v]}(x)\right)^{1/q} \leq \lambda S_n^{[\alpha]}(x) \quad (2.11)$$

where

$$\lambda = |M^p - m^p| |p(M - m)|^{-1/p} |q(M^p - m^p)|^{-1/q}.$$

If $0 < p < 1$ then reversed inequality in (2.11) is valid.

Proof. By substituting $x_i \rightarrow x_i^{u/p}$ and $y_i \rightarrow x_i^{v/q}$ into Theorem 4, we observe that the condition $m \leq x_i/y_i^{q/p} \leq M$ is fulfilled for $m = \min_i x_i^{\frac{u-v}{p}}$ and $M = \max_i x_i^{\frac{u-v}{p}}$, and that the inequalities (1.8) and (1.9) transform into (2.10) and (2.11). \square

Similarly, from the Cauchy conversions in Theorem 5, we obtain the following theorem:

Theorem 9. Let $\mathbf{x} \in \mathbb{R}_+^n$, $u, v \in \mathbb{R}$, $\alpha = \frac{u}{2} + \frac{v}{2}$ and

$$m_1 = \min_i \{x_i^{u/2}\}, M_1 = \max_i \{x_i^{u/2}\} \quad \text{and} \quad m_2 = \min_i \{x_i^{v/2}\}, M_2 = \max_i \{x_i^{v/2}\}.$$

Then

$$1 \leq \frac{S_n^{[u]}(x) S_n^{[v]}(x)}{\left(S_n^{[\alpha]}(x)\right)^2} \leq \frac{1}{4} \left(\sqrt{\frac{M_1 M_2}{m_1 m_2}} + \sqrt{\frac{m_1 m_2}{M_1 M_2}} \right)^2, \quad (2.12)$$

$$\frac{S_n^{[u]}(x)}{S_n^{[\alpha]}(x)} - \frac{S_n^{[v]}(x)}{S_n^{[\alpha]}(x)} \leq \left(\left(\frac{M_1}{m_2} \right)^{\frac{1}{2}} - \left(\frac{m_1}{M_2} \right)^{\frac{1}{2}} \right)^2, \quad (2.13)$$

$$S_n^{[u]}(x) S_n^{[v]}(x) - \left(S_n^{[\alpha]}(x)\right)^2 \leq \frac{n^2}{4} (M_1 M_2 - m_1 m_2)^2 \quad (2.14)$$

and

$$S_n^{[v]}(x) + \frac{m_2 M_2}{M_1 m_1} S_n^{[u]}(x) \leq \left(\frac{M_2}{m_1} + \frac{m_2}{M_1} \right) S_n^{[\alpha]}(x). \quad (2.15)$$

3. APPLICATIONS

In this section, we provide applications by estimating the sums of powers of sequences whose elements include Fibonacci numbers. The inequalities become interesting when we have exponents for which the sum can be calculated explicitly.

In the papers [1], [2], and [14] the identity

$$\sum_{i=1}^n F_i^2 = F_n F_{n+1} \quad (3.1)$$

is used. Using our notation, $x_i = F_i$, $i = 1, \dots, n$ (3.1) can be rephrased as

$$S_n^{[2]}(\mathbf{x}) = F_n F_{n+1}. \quad (3.2)$$

If we relate (3.2) with Theorems 6 and 7 under $\beta = 2$ and observing that condition $x_i \geq 1$ is satisfied, we get the following Theorem.

Theorem 10. (i) Let $p > 1$, $q = \frac{p}{p-1}$ and let $u, v \in \mathbb{R}$ such that $\alpha = \frac{u}{p} + \frac{v}{q} \geq 2$. Then

$$\begin{aligned} \left(\sum_{i=1}^n F_i^u \right)^{1/p} \left(\sum_{i=1}^n F_i^v \right)^{1/q} &\geq \sum_{i=1}^n F_i^\alpha \geq \\ &\geq \frac{1}{n^{\frac{\alpha}{2}-1}} (F_n F_{n+1})^{\alpha/2} \geq F_n F_{n+1} \geq \left(\sum_{i=1}^n F_i^\alpha \right)^{2/\alpha}. \end{aligned} \quad (3.3)$$

(ii) Let $p > 1$, $q = \frac{p}{p-1}$ and let $u, v \in \mathbb{R}$ such that $\alpha = \frac{u}{p} + \frac{v}{q} \leq 2$. Then

$$\left(\sum_{i=1}^n F_i^u \right)^{1/p} \left(\sum_{i=1}^n F_i^v \right)^{1/q} \geq \sum_{i=1}^n F_i^\alpha \geq (F_n F_{n+1})^{\alpha/2}. \quad (3.4)$$

(iii) Let $0 < p < 1$, $q = \frac{p}{p-1}$ and let $u, v \in \mathbb{R}$ such that $\alpha = \frac{u}{p} + \frac{v}{q} \geq 2$. Then

$$\left(\sum_{i=1}^n F_i^u \right)^{1/p} \left(\sum_{i=1}^n F_i^v \right)^{1/q} \leq \sum_{i=1}^n F_i^\alpha \leq (F_n F_{n+1})^{\alpha/2}.$$

(iv) Let $0 < p < 1$, $q = \frac{p}{p-1}$ and let $u, v \in \mathbb{R}$ such that $\alpha = \frac{u}{p} + \frac{v}{q} \leq 2$. Then

$$\begin{aligned} \left(\sum_{i=1}^n F_i^u \right)^{1/p} \left(\sum_{i=1}^n F_i^v \right)^{1/q} &\leq \sum_{i=1}^n F_i^\alpha \leq (F_n F_{n+1})^{\alpha/2} \leq \\ &\leq \frac{1}{n^{\frac{\alpha}{2}-1}} (F_n F_{n+1})^{\alpha/2} \leq F_n F_{n+1} \leq \left(\sum_{i=1}^n F_i^\alpha \right)^{\alpha/2}. \end{aligned}$$

Remark 2.

- (i) Note that if we set $p = 2$ (Cauchy case) in the (i)-part of Theorem 10, then the chain of inequalities in (3.3) provides a refinement of (1.3).
- (ii) Observe that the analysis of equality in (3.3) (or (1.3)) is now simpler using the central terms $\sum_{i=1}^n F_i^\alpha$ and $\frac{1}{n^{\frac{\alpha}{2}-1}} (F_n F_{n+1})^{\alpha/2}$.

The previous results can be extended using Hölder's transformations from Theorem 8, with $x_i = F_i$ and $S_n^{[2]}(\mathbf{x}) = F_n F_{n+1}$. Observe that due to the monotonicity of the Fibonacci sequence, we have

$$m = \min_i \{x_i^{\frac{u-v}{p}}\} = \min\{F_1^{\frac{u-v}{p}}, F_n^{\frac{u-v}{p}}\} \text{ and } M = \max_i \{x_i^{\frac{u-v}{p}}\} = \max\{F_1^{\frac{u-v}{p}}, F_n^{\frac{u-v}{p}}\}.$$

Theorem 11. Let $p > 1$, $q = \frac{p}{p-1}$, $u, v \in \mathbb{R}$ such that $\frac{u}{p} + \frac{v}{q} = 2$ and let $m = \min\{F_1^{\frac{u-v}{p}}, F_n^{\frac{u-v}{p}}\}$ and $M = \max\{F_1^{\frac{u-v}{p}}, F_n^{\frac{u-v}{p}}\}$.

(i) If $p > 1$ then

$$(M - m) \sum_{i=1}^n F_i^u + (mM^p - Mm^p) \sum_{i=1}^n F_i^v \leq (M^p - m^p) F_n F_{n+1} \quad (3.5)$$

and if $0 < p < 1$ then reversed inequality in (2.10) is valid.

(ii) If $p > 1$, then

$$\left(\sum_{i=1}^n F_i^u \right)^{1/p} \left(\sum_{i=1}^n F_i^v \right)^{1/q} \leq \lambda F_n F_{n+1}. \quad (3.6)$$

where

$$\lambda = |M^p - m^p| |p(M - m)|^{-1/p} |q(M^p - m^p)|^{-1/q}.$$

If $0 < p < 1$ then reversed inequality in (3.6) is valid.

We will apply Cauchy's transformations from Theorem 9 to the following identity

$$x_i = F_i F_{i+1}, \quad i = 1, \dots, n; \quad S_n^{[1]}(\mathbf{x}) = F_{n+1}^2 - \frac{1 + (-1)^n}{2} \quad (3.7)$$

(see [8]).

Here, again due to the monotonicity of the sequence x_i , we have that for any $u, v \in \mathbb{R}$

$$\begin{aligned} m_1 &= \min_i \{x_i^{u/2}\} = \min\{(F_1 F_2)^{u/2}, (F_n F_{n+1})^{u/2}\}, \\ M_1 &= \max_i \{x_i^{u/2}\} = \max\{(F_1 F_2)^{u/2}, (F_n F_{n+1})^{u/2}\} \end{aligned}$$

and similarly

$$m_2 = \min\{(F_1 F_2)^{v/2}, (F_n F_{n+1})^{v/2}\}, \quad M_2 = \max\{(F_1 F_2)^{v/2}, (F_n F_{n+1})^{v/2}\}.$$

We now use Theorem 9 with $\alpha = 1$ to utilize the identity from (3.7).

Theorem 12. *Let $u, v \in \mathbb{R}$, $u + v = 2$ and*

$$m_1 = \min\{(F_1 F_2)^{u/2}, (F_n F_{n+1})^{u/2}\}, \quad M_1 = \max\{(F_1 F_2)^{u/2}, (F_n F_{n+1})^{u/2}\}$$

$$m_2 = \min\{(F_1 F_2)^{v/2}, (F_n F_{n+1})^{v/2}\}, \quad M_2 = \max\{(F_1 F_2)^{v/2}, (F_n F_{n+1})^{v/2}\}.$$

Then

$$1 \leq \frac{\sum_{i=1}^n (F_i F_{i+1})^u \sum_{i=1}^n (F_i F_{i+1})^v}{F_n F_{n+1} - \frac{1+(-1)^n}{2}} \leq \frac{1}{4} \left(\sqrt{\frac{M_1 M_2}{m_1 m_2}} + \sqrt{\frac{m_1 m_2}{M_1 M_2}} \right)^2, \quad (3.8)$$

$$\frac{\sum_{i=1}^n (F_i F_{i+1})^u}{F_n F_{n+1} - \frac{1+(-1)^n}{2}} - \frac{F_n F_{n+1} - \frac{1+(-1)^n}{2}}{\sum_{i=1}^n (F_i F_{i+1})^v} \leq \left(\left(\frac{M_1}{m_2} \right)^{\frac{1}{2}} - \left(\frac{m_1}{M_2} \right)^{\frac{1}{2}} \right)^2, \quad (3.9)$$

$$\sum_{i=1}^n (F_i F_{i+1})^u \sum_{i=1}^n (F_i F_{i+1})^v - \left(F_n F_{n+1} - \frac{1+(-1)^n}{2} \right)^2 \leq \frac{n^2}{4} (M_1 M_2 - m_1 m_2)^2, \quad (3.10)$$

$$\sum_{i=1}^n (F_i F_{i+1})^v + \frac{m_2 M_2}{M_1 m_1} \sum_{i=1}^n (F_i F_{i+1})^u \leq \left(\frac{M_2}{m_1} + \frac{m_2}{M_1} \right) \left(F_n F_{n+1} - \frac{1+(-1)^n}{2} \right). \quad (3.11)$$

4. CONCLUDING REMARKS

We have demonstrated how, by using Theorems 6, 7, 8, and 9, as well as the identities (3.7) and (3.2) related to Fibonacci numbers, a series of inequalities can be derived, as shown in Theorems 10, 11, and 12. In the following lines, we present additional identities that can be utilized in a similar manner.

$$\text{For } i = 1, \dots, n, \quad x_i = F_i, \quad \beta = 1, \quad S_n^{[1]}(\mathbf{x}) = F_{n+2} - 2, \quad [8, \text{p. } 11]$$

$$x_i = F_{2i-1}, \quad \beta = 1, \quad S_n^{[1]}(\mathbf{x}) = F_{2n}, \quad [8, \text{p. } 11]$$

$$x_i = F_{2i}, \quad \beta = 1, \quad S_n^{[1]}(\mathbf{x}) = F_{2n+1} - 1, \quad [8, \text{p. } 11]$$

$$x_i = iF_i, \quad \beta = 1, \quad S_n^{[1]}(\mathbf{x}) = F_{n+2} - F_{n+3} + 2, \quad [8, \text{p. } 11]$$

$$x_i = F_i F_{3i}, \quad \beta = 1, \quad S_n^{[1]}(\mathbf{x}) = F_n F_{n+1} F_{2n+1}, \quad [16]$$

$$x_i = F_{4i-2}, \quad \beta = 1, \quad S_n^{[1]}(\mathbf{x}) = F_{2n}^2, \quad [8, \text{p. } 61]$$

$$x_i = \binom{n}{i} F_i, \quad \beta = 1, \quad S_n^{[1]}(\mathbf{x}) = F_{2n}, \quad [8, \text{p. } 61]$$

$$\text{for } i = 1, \dots, 2n+1, \quad x_i = F_i \sqrt{\binom{2n+1}{i}}, \quad \beta = 2, \quad S_{2n+1}^{[2]}(\mathbf{x}) = 5^n F_{2n+1}, \quad [8, \text{p. } 56]$$

Particularly interesting are those identities involving Fibonacci numbers for which the sum $S_n^{[\alpha]}(\mathbf{x}) = \sum_{i=1}^n x_i^\alpha$ can be calculated for several different choices of $\alpha \in \mathbb{R}$. For example, with the choice $\alpha = -1$, $x_i = F_i F_{i+2}$, we have (see [8])

$$S_n^{[-1]}(\mathbf{x}) = 1 - \frac{1}{F_{n+1} F_{n+2}}. \quad (4.1)$$

Furthermore, by continuing the calculations, we obtain

$$\begin{aligned}
S_n^{[1]}(\mathbf{x}) &= \sum_{i=1}^n F_i F_{i+2} = \sum_{i=1}^n F_i (F_i + F_{i+1}) = \sum_{i=1}^n (F_i^2 + F_i F_{i+1}) = \\
&= \sum_{i=1}^n F_i^2 + \sum_{i=1}^n F_i F_{i+1} = F_n F_{n+1} + F_{n+1}^2 - \frac{1 + (-1)^n}{2} \\
&= F_{n+1} F_{n+2} - \frac{1 + (-1)^n}{2}.
\end{aligned} \tag{4.2}$$

These two facts are used in the following theorem.

Theorem 13. (i) Let $p > 1$ and let $\beta \leq 1$. Then

$$\begin{aligned}
&\left(\sum_{i=1}^n (F_i F_{i+2})^{2p-1} \right)^{1/p} \left(1 - \frac{1}{F_{n+1} F_{n+2}} \right)^{\frac{p-1}{p}} \geq F_{n+1} F_{n+2} - \frac{1 + (-1)^n}{2} \geq \\
&\geq \frac{1}{n^{\frac{1}{\beta}-1}} \left(\sum_{i=1}^n (F_i F_{i+2})^\beta \right)^{1/\beta} \geq \sum_{i=1}^n (F_i F_{i+2})^\beta \geq \left(F_{n+1} F_{n+2} - \frac{1 + (-1)^n}{2} \right)^\beta.
\end{aligned}$$

(ii) Let $p > 1$ and let $\beta > 1$. Then

$$\begin{aligned}
&\left(\sum_{i=1}^n (F_i F_{i+2})^{2p-1} \right)^{1/p} \left(1 - \frac{1}{F_{n+1} F_{n+2}} \right)^{\frac{p-1}{p}} \geq F_{n+1} F_{n+2} - \frac{1 + (-1)^n}{2} \geq \\
&\geq \left(\sum_{i=1}^n (F_i F_{i+2})^\beta \right)^{1/\beta}.
\end{aligned}$$

(iii) Let $0 < p < 1$ and let $\beta > 1$. Then

$$\begin{aligned}
&\left(\sum_{i=1}^n (F_i F_{i+2})^{2p-1} \right)^{1/p} \left(1 - \frac{1}{F_{n+1} F_{n+2}} \right)^{\frac{p-1}{p}} \leq F_{n+1} F_{n+2} - \frac{1 + (-1)^n}{2} \leq \\
&\leq \frac{1}{n^{\frac{1}{\beta}-1}} \left(\sum_{i=1}^n (F_i F_{i+2})^\beta \right)^{1/\beta} \geq \sum_{i=1}^n (F_i F_{i+2})^\beta \leq \left(F_{n+1} F_{n+2} - \frac{1 + (-1)^n}{2} \right)^\beta.
\end{aligned}$$

(iv) Let $0 < p < 1$ and let $\beta \leq 1$. Then

$$\begin{aligned}
&\left(\sum_{i=1}^n (F_i F_{i+2})^{2p-1} \right)^{1/p} \left(1 - \frac{1}{F_{n+1} F_{n+2}} \right)^{\frac{p-1}{p}} \leq F_{n+1} F_{n+2} - \frac{1 + (-1)^n}{2} \leq \\
&\leq \left(\sum_{i=1}^n (F_i F_{i+2})^\beta \right)^{1/\beta}.
\end{aligned}$$

Proof. First, observe that the condition $x_i = F_i F_{i+2} \geq 1$, $i = 1, \dots, n$ is satisfied in Theorems 6 and 7. In the expression $\alpha = \frac{u}{p} + \frac{v}{q}$ from the mentioned theorems, we choose $\alpha = 1$ and $v = -1$, and we utilize the identities (4.1) and (4.2). \square

Cauchy, Fibonacci, Lucas, and Vandermonde. Here, we simply mention that some interesting inequalities can be obtained through the direct application of Cauchy's inequalities.

(i) If we set $x_i = i$, $y_i = F_i$, $i = 1, \dots, n$ then $\sum_{i=1}^n x_i y_i = nF_{n+2} - F_{n+3} + 2$ (see [8, p. 11]). By application of Cauchy inequality (1.7) we get

$$(nF_{n+2} - F_{n+3} + 2)^2 \leq \frac{(2n+1)n(n+1)}{6} F_n F_{n+1} \quad (4.3)$$

(ii) Let us take $x_i = \binom{n}{i}$, $y_i = F_i$, $i = 0, 1, \dots, n$. Then from [8, p. 61] we know $\sum_{i=0}^n x_i y_i = F_{2n}$. Now we use Vandermonde identity

$$\sum_{i=0}^n \binom{n}{i}^2 = \binom{2n}{n},$$

(3.1) and Cauchy inequality to get

$$F_{2n}^2 \leq \binom{2n}{n} F_n F_{n+1}. \quad (4.4)$$

(iii) The above model can also be applied to Lucas numbers (and similar sequences)

$$L_n = F_{n+1} + F_{n-1}, \quad n \geq 1,$$

and $L_0 := 2$. From [8, p. 111] we have

$$\sum_{i=0}^n \binom{n}{i} F_i F_{n-i} = (1/5) (2^n L_n - 2) \quad (4.5)$$

and from [8, p. 56] we have

$$\sum_{i=0}^{2n+1} \binom{2n+1}{i} F_i^2 = 5^n F_{2n+1}.$$

We set $x_i = F_i \sqrt{\binom{2n+1}{i}}$, $y_i = F_{2n-i} \sqrt{\binom{2n+1}{2n-i}}$, $i = 0, 1, \dots, 2n+1$. Using (4.5) for $n \rightarrow 2n+1$, symmetry of binomial coefficients and Cauchy inequality we get

$$2^{2n+1} L_{2n+1} \leq 5^{n+1} F_{2n+1} + 2.$$

Thus, we have proven the following theorem.

Theorem 14. *For any $n \in \mathbb{N}$, the following holds*

$$(nF_{n+2} - F_{n+3} + 2)^2 \leq \frac{(2n+1)n(n+1)}{6} F_n F_{n+1}, \quad (4.6)$$

$$F_{2n}^2 \leq \binom{2n}{n} F_n F_{n+1}, \quad (4.7)$$

$$2^{2n+1} L_{2n+1} \leq 5^{n+1} F_{2n+1} + 2. \quad (4.8)$$

REFERENCES

- [1] H. ALZER AND F. LUCA, *An inequality for the Fibonacci numbers*, Math. Bohem. 147 (2022), 587–590.
- [2] H. ALZER, M. K. KWONG, *Extension of an Inequality for Fibonacci Numbers*, Integers 22(2022), Paper No. A85.
- [3] A. BROUSSEAU *Fibonacci-Lucas Infinite Series-Research Topic*, The Fibonacci Quarterly, Volume 7(2), (1968), 211–217.

- [4] P. S. BULLEN, D. S. MITRINOVIĆ, AND P. M. VASIĆ, *Means and Their Inequalities, Mathematics and Its Applications*, D. Reidel Publishing Company, Dordrecht, Boston, Lancaster, Tokyo, 1988.
- [5] J. H. BUTCHART, *Problem B - 124* The Fibonacci Quarterly, 6(4), (1968).
- [6] J. B. DIAZ AND P. T. METCALF, *Stronger forms of a class of inequalities of G. Polya-G. Szegő and L.V. Kantorovich*, Bull. Amer. Math. Soc. 69 (1963), 415–418.
- [7] H. T. FREITAG, *Problem B - 286*, The Fibonacci Quarterly, 13(3),(1975)
- [8] R. P. GRIMALDI, *Fibonacci and Catalan Numbers*, John Wiley & Sons, Inc., Hoboken, NJ, 2012.
- [9] G. H. HARDY, J. E. LITTLEWOOD AND G. POLYA, *Inequalities*, 2nd ed. Cambridge Univ. Press, 1934.
- [10] T. KOSHY, *New Fibonacci and Lucas Identities*, The Mathematical Gazette, Volume 82, November, 1998, 481–484.
- [11] D. S. MITRINOVIĆ, J. E. PEČARIĆ, *Hölderova i srodne nejednakosti*, Naučna knjiga, Beograd, 1990.
- [12] N. OZEKI, *On the estimation of the inequalities by the maximum*, J.College Arts Sci. Chiba Univ. 5 (1968), No. 2, 199–203 (1969).
- [13] G. POLYA AND G.SZEGÖ, *Aufgaben und Lehrsätze aus der Analysis, vol. 1*, Berlin 1925, pp. 57 and 213–214.
- [14] P. G. POPESCU AND J.L. DIAZ-BARRERO, *Certain inequalities for convex functions*, J. Inequal. Pure Appl. Math. 7(2) (2006), Article 41.
- [15] J. E. PEČARIĆ, F. PROSCHAN, Y. L. TONG, *Convex functions, partial orderings, and statistical applications*, Mathematics in science and engineering, **187** Academic Press, 1992.
- [16] K. G. RECKE, *Problem B - 153*, The Fibonacci Quarterly, 7(3) (1969).
- [17] O. SHISHA, *Inequalities I*, New York-London, 1967, 293–308.

1. FACULTY OF SCIENCE, UNIVERSITY OF ZAGREB, BIJENIČKA CESTA 30, 10000 ZAGREB, CROATIA

Email address: duje@math.hr

2. UNIVERSITY OF ZAGREB FACULTY OF FOOD TECHNOLOGY AND BIOTECHNOLOGY, MATHEMATICS DEPARTMENT, PIEROTTIJEVA 6, 10000 ZAGREB, CROATIA

Email address: juliye.jaksetic@pbf.unizg.hr

3. CROATIAN ACADEMY OF SCIENCES AND ART, TRG NIKOLE ŠUBIĆA ZRINSKOG 11, 10000 ZAGREB, CROATIA

Email address: jopecaric@gmail.com